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Question Number : 1 Question Id : 5471145301 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is regular Echinoid

& 308 T783e5° S0 dDToE
Options :

Micraster

3.¢

Hemiaster

UV OV TS)

Question Number : 2 Question Id : 5471145302 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pygidium is present in
&Q%0 BOAS derazo

Options :
Paraoxides

FOEB)E
1. v
Nautilus

8o

Turritella

¢28&3e@
3. % .



Glosspteris
ProE0R

Question Number : 3 Question Id : 5471145303 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Turritella 1s
0GR a8

Options :
Gastropod

m@@é

1. &

Brachiopod

e Boeed®eS
2. %

Cephalopod
HS

3. %
Bivalve

&aééaﬂejﬂw

Question Number : 4 Question Id : 5471145304 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are described as Sea Urchins?
SE0(E 0O 0 B SHIF
Options :
Diatoms

GaSéoan)



Conodonts

5 PFrrod
2. %
Ichthyodonts
583 o))
3. %
Echinoids
aD8eonE)
4. ¢

Question Number : 5 Question Id : 5471145305 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Index fossils are
AFNS FUrere T
Options :
Wide distribution and short lived
ey D DHGA0S” eod By IsrwB £Dod) &oltd
1.¢
Local and long lived

FoBONHNTT &0l BEY HSPLB EDod) Eold

2. %
Lived throughout Geological time
£F S0SPw0 o 2ot &0tk

3. %

Big sized fossils
DG Fereren
4. % =

Question Number : 6 Question Id : 5471145306 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Equivalved shells are present in

RS E8)sPen EDAKG

Options :
Brachiopoda
Eag=lonvivided

1. %

Corals
55865

2. %
Lamellibranches
ef) (e°oE)

3.

Trilobites
BEBE)
4. %

Question Number : 7 Question Id : 5471145307 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not a plant fossil?

& 208 To8)es° 208, Ferasn 5O

Options :
Triolobites
03085 E3E5y
1.+
Glossopteris
TPIHBD
o e



Ptyllophvllum

e5° V0

3. %
Gangamopteries
Hotisarrod

4. % 1

Question Number : 8 Question Id : 5471145308 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eparchean unconformity is in between formations of
DB 00D BIMETVS DB S’ &) 6
Options :
Pliocene to Pleistocene

DANDD- DTDD

1. %
Mesozoic to Cainozoic
Y E onE-HI3E 00s
2. %
Proterozoic to Mesozoic
. @ oS- 2rond
. ®B
Archeans and Proterozoic
e50), 08D~ J'edawvaE ans
4.

Question Number : 9 Question Id : 5471145309 Display Question Number : Yes Is Question Mandatory : No Calculator
: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The rocks belonging to Gondwanas are of

P08 o BodS dwen & &S%0

Options :



Fluwviatile origin

K)E‘;éﬂ)é

1.¥
Lacustrine origin
feptelon

2. %

Marine origin

Qd3dm(&S
3. %
Glacial origin
Sesrd $6
4. %

Question Number : 10 Question Id : 5471145310 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Type area of Jurassic rocks in India 1s at

eGh B30 65°0 rorHsS Fuwk E¢b 6D

Options :
Uttatur

&b
1. %

Tiruchunapally

SEOEOTHY

Spiti

2y



Kutch
&0

Question Number : 11 Question Id : 5471145311 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the characteristic feature of Narmada Valley
JEEss Eab EwE) JErd oFeo
Options :
Glacial origin

2rieR) 56 edunHo

Aeolian origin

P00 esprded @S}Uga’ao

2. %

Structural origin

NORETEE 8ITHD0
3. ¢

Volcanic Origin

@Qléﬁﬁﬁgacgéo

Question Number : 12 Question Id : 5471145312 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first movement of Himalayas from the Tethys sea is during
33 :aangmﬁ“ SPATFLODAVL AVGSESDE DsreHS” 20000
Options :
Oligocene

208D
1. %



Middle Miocene

2068 20037H D

2. %
Late Cretaceous - early Eocene.
, @b EE522002-58 BT
3. i
Late Eocene
B8 WD
4. %

Question Number : 13 Question Id : 5471145313 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India, the Triassic system of rocks are found as
GRS B80S |©05rDE oo & QFore HBoSE:?
Options :
Marine facies

Sl DD

1. %
Marine geosynclinals facies
DSOS abe @5 1D
2. ¢
Marine transgressed
- RS @8 (Bdeso
Marine regression
Bl (HBFSB0
4. %

Question Number : 14 Question Id : 5471145314 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Deccan trap was formed by which of the following activity?

Q S RO BERS (7R B)5zPon



Options :
Dharwar Vulcanicity

mucvsﬁ SR DS

Paleozoic Vulcanicity

DOFFEEaE HemD W

Mesozoic Vulcanicity

SoBSonE SR

Cretacous Vulcanicity

BEVHT SR W
4. ¢

Question Number : 15 Question Id : 5471145315 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which one of the following igneous body 1s concordant form?

& 308 B’ el oo DETD0SDAD i es5,87?

Options :

Dyke

as

Cone Sheets

%os“ss“d Dée

2. %
Volcanic neck
eof) DOS Ao

3. %

Sill
e

4.



Question Number : 16 Question Id : 5471145316 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is mechanical sedimentary structure?

& 308 TS alroBs wSED S

Options :
Nodules

Felolg-{34)
l. 5

Mud cracks

[A%]eTn] :ngp

Cross bedding

@d}gﬁ oRoeo
3.¢ -

Geodes

20374 e

Question Number : 17 Question Id : 5471145317 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Basalts are composed of the following

aa@ﬁé &F &3) 2o B

Options :
Pyroxenes
E::D‘bﬁ%r:,
= F-

1. ¢
Galena
RAdze



Mica

QOS®
3. %

Galena and Mica
\ RO HHdEH Dose
LB

Question Number : 18 Question Id : 5471145318 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most abundant sedimentary rock is

g S VBT BSHE ©ITD B

Options :
Sandstone
5:08 TPOD
1. %
Limestone
DDT00
2. %
Shale
=
v @S
Gypsite
2D
4. %

Question Number : 19 Question Id : 5471145319 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The rocks syenites are characterized by the predominance of
o PRe3o, ?6053@&566 bS50 &od ©gp0?

Options :



Quartz
e
1. %
Nepheline
O
2. %
Alakli feldpar
v @ﬂzﬁ) Bty

K-Feldspar
8-25rb

4. %

Question Number : 20 Question Id : 5471145320 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lavas in which the gas cavities are very numerous and mregular in shape. and filled

with minerals are called

erard® srdin Hioren 6o& 2.8 $BS Syt SHowe Gob PQered® o&SH

Options :
Scoria
vplelovye

1. %
Pumice
TR

2. %
Amygdales
RS

@

3.¢



Pits

100&5en

Question Number : 21 Question Id : 5471145321 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sediments of particle size between 1/16 mm to 1/256 mm are called

@aﬁéé Bes H0ees0, 1/16 mm - 1/256 mim 563&5 &S00

Options :
Clay
22027°2) 50
1. &
Silt
9]
v ®
Sand
e 08
3. %
Gravel
(r3S
4. %

Question Number : 22 Question Id : 5471145322 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In most of the sedimentary rocks
e, L
©ITD 0&® rrHT
Options :

K=Na
1.+



K<Na

2. %
K is present
K $9A eotwod
3. %
K is not present
K 98 eotic
4. %

Question Number : 23 Question Id : 5471145323 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Transform faults are associated with

DO HoTrew A4 £rd socod
Options :
Oceanic Ridges
mmag“aej%iej DO
1.«
Horst and Grabens

BoF (e 20803 (19 DT°§R0

Normal Faults

Sl 5":‘.5350
3. %

Trust Faults

BED PoToen
4. %

Question Number : 24 Question Id : 5471145324 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



True dip direction is always
Q2 DD BF JVYHET
Options :
Perpendicular to strike direction

00,0 A8 Voo
1LV 0

Parallel to strike direction

29080 0 A8 RaaTroeddo

09
2. %
Parallel to apparent dip direction
;30655 N3 HBL A0S0
3. %
Perpendicular to Apparent dip direction
QDG DD BILD wowo
4. %

Question Number : 25 Question Id : 5471145325 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Generally columnar Joints will present in which rocks.

ForGes Doarrses Docew SHAD F DA

Options :
Gabbros
ed e

1. %
Dolerites
(ol 3Tel A%

2. % <
Granites
TR0



Basalts

eodren)
4.4 -

Question Number : 26 Question Id : 5471145326 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A fold convex upward and having older rock in the centre is called

a8 58, Hogrsrdorr ¢ol, HTES Boen Hgy FHoE® ol HFotrdd?

Options :
Anticline
@08

1. ¢
Antiform
LN

2. %

Syneline
2085

3. %

Synform
2R

4. %

Question Number : 27 Question Id : 5471145327 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The discontinuity between outer core and inner core is known as

ePsTy 0B @osY Solto s G ©H DR dootrtd?
Options :
Mohorovicic Discontinuity

Ar5nBPNE eBdTKo

1. %

Conard Discontinuity

256 00 Do
2. % = 9



Repetti Discontinuity

828 o dTgdo

3. % =
Lehmann Discontinuity

L B BBITGH0

Question Number : 28 Question Id : 5471145328 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is used for recognition of fault in field

[Fodoid HBoSErl8 sprdo W&

Options :
Pl'iJllEll'}' structures

(©&S ABEden

1. %
Secondary structures
E:rgécﬁa K)El&é:a@::
2. %
Grain size
BdHe HBSrm0
3. %
Repetition and omission of strata
{00 YVTEo pOAW BOBTRO
4. ¢

Question Number : 29 Question Id : 5471145329 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Clinometer 1s used for

255 et DAV BenoE DD SHBRARD?

Options :



Determination of strike

SR Taleienil)
Le SO
Determination of amount of dip
N8 HDBares0
2. %
Determination of dip direction
08 &E
3. %
Determination of Strike, Dip direction and amount
©:0PTgE0, 58 BF DO HOLreo
4.

Question Number : 30 Question Id : 5471145330 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On a granite basement younger sedimentary rocks are deposited. What will be the

structure
RS ot A ©IFH o VJIHI GBI Aotrd.
Options :

Non-conformity
D DTR0
1. ¢
Angular Unconformity
s'hah D% Dm0
2. %
Disconformity

@a’sﬁ}aﬂéﬁo



Conformity
QD DTG0
4. %

Question Number : 31 Question Id : 5471145331 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sand dunes are depositional form of

CISSCRE NS He Ga0g), AEDE G0

Options :
Winds
1. ¢ s
Glaciers
s =
TSR] AR
2. #
Rivers
Acoew
3. %
Oceans
A0
4. #

Question Number : 32 Question Id : 5471145332 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Average density of the Earth 1s

Zo g, RDTB Jrogses

Options :

2.72 g/cm3

3.85 g/cm3



4.62 g/cm3

5.51 g/lem3
4.9

Question Number : 33 Question Id : 5471145333 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Meanders are formed m
aDo3Tod s g)ci;)(i Fln P bb)
Options :
Youth full stage of River

RO A3V, 0O OF

Old stage of River

I cﬁ.:DSET ::;,%5 o3

Mature stage of River
G lt:ﬁ.:).:oSET DODS] G52
3.¢

Deltas

&eren)
=

Question Number : 34 Question Id : 5471145334 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following rivers does not form a delta
@Egéa QEBED 56
Options :

Krishna

S

1. %



Godavari

A8
2. %
Mahanadi
SDIFRNE
3. %
Narmada
Nlela
4. é’

Question Number : 35 Question Id : 5471145335 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is formed by glacial erosion

2PSrD) B EHEI0 TR BB

Options :
Yardang
osbroh
1. %
Potholes
DI een
2. %
Aréte
b
3. ¢
Cuesta
A7
4. %

Question Number : 36 Question Id : 5471145336 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Flat topped sea mounts are known as

&H0B0 BT G VED MDYen o IO ©otrs?

Options :
Mesa
P
1. %
Guyot
DA5TeS
2.
Inselberg
e b
3. %
Monadnock
aweE o8
4. %

Question Number : 37 Question Id : 5471145337 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the temperature of the mmner core of the Earth

gl @088 Soldo Shvy(ahd

Options :
Approximately 4500 K

4500 K Qosoedore

1. %

Approximately 5700 K

5700 K Qodoedore
2.v

Approximately 6200 K
6200 K osdrdore

3. %



Approximately 6800 K
6800 K oddoedorve

Question Number : 38 Question Id : 5471145338 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is associated with volcano

ef) ééﬁaﬁe_ﬁg 200208 0T 65&5

Options :
Tillite
828

1. %

Morain
R03R)

2. %

Varve
aﬁgog

3. %

Tephra

4. @@'0

Question Number : 39 Question Id : 5471145339 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Thickness of the mantle 1is

girar 80 SwE) ootso

Options :

1900 Km

2500 Km



2900 Km

Question Number : 40 Question Id : 5471145340 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The age of the Earth 1s currently thought to be
ey ) HADKY) Doddsedore

Options :
about 6.5 billion old

6.5 OHS DodSoren DLmtore

1. %

about 5.5 billion years old

5.5 DOADHS Ko oren Kodrtore
2. %

about 4.5 billion years old

4.5 O] o oren oketore
3. ¢

about 3.5 billion vears old

3.5 DOcHS Hoddoren Qodieddre
4. %

Question Number : 41 Question Id : 5471145341 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Normal class of orthorhombic system is

AT E, ;ﬁﬁ;ﬁ;géab avmsa?g Do ti:a00

Options :



Gypsum type

200 60
M
1. %
Zircon type
am&.% S6o
4]
2. %
Axmite type
‘o'}ég)ééﬁ buTole]
3. % L
Barytes type
308> S6o
4.

Question Number : 42 Question Id : 5471145342 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mnstrument used to measure mterfacial angel of crystals is
2 B30 wosd) PE ) EBB FEda0 6?
Options :
X-ray difractometer

&)§3-6 DG e AFPDHEAD

Refractometer.

SDEBID (e ATDHEID
2. 8

Contact Goniometer

NG Er3d
3. ¢ N

Ore Microscope

a0 ‘&P&éﬁﬁ;ﬂ
4. %



Question Number : 43 Question Id : 5471145343 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Miller mdex for cubic face is
e} 3 065" Ao g, Ded D)o

Options :

100
1.¢

110

10 |

Question Number : 44 Question Id : 5471145344 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Euler’s fornmla is . Where. F=number of faces. V=number of vertices and

E=number of edges.

55370@5:3 Ar(Go (@b , F =dogre ‘n’:oa:@ s N =%U;u ‘;60335, E = oo éoaaé
Options :
F+V=E+2
1. ¢
F-V=E+2
2. %
F+V=E-2
3. %
F-V=E-2



Question Number : 45 Question Id : 5471145345 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following crystal has one asymmetric class

D B)BE HHHS® a8 OES BB soenob.

Options :
Isometric
0P &S

1. %

Trigonal
|BKIS

2. %

Monoclinic
DSEDE

3. %

Triclinic
BERE
4.

Question Number : 46 Question Id : 5471145346 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A plane of symmetry 1s always
TS Boo APt TP
Options :
Parallel to a possible edge of the crystal

DBSosM™ ©oH% dErosBorT

Parallel to a possible face of the crystal

HBBo& S0grd8 SErosorm



Perpendicular to a possible face of the crystal

@;E_Eéoérw Sogrd8 eodiore

Perpendicular to a possible edge of the crystal

HBBosS™ @0HE eogorr

Question Number : 47 Question Id : 5471145347 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Scalenohedron is a form having

0% rSE

Options :

8 faces

8 dnogren
1. %

12 faces

12 Soogren
2. &%

Either 8 or 12 faces

8 S 12 Sogren
3.

24 faces

24 Sngren

Question Number : 48 Question Id : 5471145348 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The prismatic. domatic and sphenoidal classes are characteristic of
a‘i%éo, Bodo B ?oujmmaé SBNBeD @ 555&’)"%@ ©Fe0?

Options :



Trigonal system

(BRSS
1. %
Triclinic system
BERE
2. %
Monoclinic system
S8
3. ¢
Orthorhombic system
o808
4. % Q

Question Number : 49 Question Id : 5471145349 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following systems has all closed forms?

i) {)?Ss'agés LR ey AGEen SoHh?

Options :
Triclinic
BE0E
1. %
Monoclinic
2 SPAE
2. %
Trigonal
Lé%r‘%eg
3. %
Cubic

Sms8

4.



Question Number : 50 Question Id : 5471145350 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Symmetry elements of Axinite are
©§)3 Tog) RS Sresten DD?

Options :
A centre of symmetry only

, ol Hdo oo (3o

1.v

A centre of symmetry and a plane of symmetry

Lol %"%&60 0B a8 c’l‘l"@a’) Sereen

2. %
A centre of symmetry and one diad axis
ol PRS0 HBAs» BodH PeSBeren

3. %
A centre of symmetry. one plane of symmetry and one diad axis
2ol HH0 HOAD Hoetd JHS Seen

4. %

Question Number : 51 Question Id : 5471145351 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following

& S0& T8 2ahDHETDSAD

Mineral (p2::50) Chemical composition (6rab® Doierd)
a — Haematite (3»2063¢5) A. CaCO;
b — Pyrite (3084) B. Fe, 03
¢ — Fluorite (2°s¢3) C. FeS;
d — Calcite (se&5 28) D. CaF»
Options :
a—A b-B c—C d-D
1. %
a—B b—A c—D d-C
2. %
a—B b€ c—-D d-A
3. ¢
2 B b-D c—B d—A
4. %

Question Number : 52 Question Id : 5471145352 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Ferromagnetic mineral is

> @o:i.)%“&ce:b D250 DE?
Options :
Quartz

=58

l. %



Ilmenite

Q) D

Magnetite

2om 565
3.¢ A=

Hematite

R0EES

Question Number : 53 Question Id : 5471145353 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following mineral has isotropic property?

& 208 oS’ DAVEA0ID G060 £ODRDS

Options :
Augite
e85
1. &
Hornblende
£56) Boé
2. %
Pyrope
2ED
3.
Epidote
DHES
4. %

Question Number : 54 Question Id : 5471145354 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is an amorphous mineral?
308 58S’ eIMEL JT°s"8 IR0 IE?
Options :
Opal
EDS
1. ¢
Cat’s Eye
&5
2. % =%

Topaz
EPars

3. %

Lapiz Lazuli

o Seerd)

Question Number : 55 Question Id : 5471145355 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kyanite shows which form

BaH3eS S0 88 267?

Options :
Columnar
DoeTE\S

La ° e\’l
Elongated
QDU

2. %

Bladed
a6

3.¢



Tabular
DOBBTN

Question Number : 56 Question Id : 5471145356 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The property of a mineral by virtue of which it can be cut with a knife is

8 ey 388° S aHredd Dendd oFpo J6?

Options :
Parting
@Dgoﬁ
1. %
Sectile
D8 &5
L ]
2. W
Malleable
Sredcdhenss
3. %
Ductile
&8 &
gy
4. %

Question Number : 57 Question Id : 5471145357 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following minerals shows conchoidal fracture?
goscamGen gy @3656_803 2de20 N6?

Options :

Quartz

=%

1.v



Muscovite

SHREBES
2. %
Wollastonite
ST
3. % 2 .
Andalusite
©omPen Q&
4. %

Question Number : 58 Question Id : 5471145358 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Quartz exhibits fracture

0, @ PR (BB8)Rob?
Options :
Hackly

&5

1. %

Uneven

95830

Even

933008

Conchoidal

seoseanleS
4. ¢

Question Number : 59 Question Id : 5471145359 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Malachite shows which type of structure

SreBE @ GBI (HE58)00.



Options :

Reniform

. B
Globular
R zd=ite)

2. %
Mammillary
éﬁﬁbgé

3. %

Granular
3858
4. %

Question Number : 60 Question Id : 5471145360 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Structure or form which depicts leaf-like sheets is
B I8 &) A8 6?7
Options :
Foliated
NS

Lamellar

Sl s ile!
2.

Radiating

DeBED

3. %



Granular

3858

Question Number : 61 Question Id : 5471145361 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the mineral is an abrasive mineral?

& S08 835" DA eod 2088 PJ2I?

Options :
Talc
wﬁb
1. #
Sillimanite
O02e0
2. ®
Garnet
r:r“aléi
3.
Zircon
a.mb.‘m
4. %

Question Number : 62 Question Id : 5471145362 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Barytes deposits in Andhra Pradesh are at
esogh DB & BPAD DEFrew ) ¢ &T°) aw
Options :
Visakhapatnam

E)?a::oé.u;lo



Eluru

Qeardd

Cudappah
el
3. ¢
Kurnool
s:.ﬁb;lw

4. #

Question Number : 63 Question Id : 5471145363 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following is Copper ore?

208 To83eS TR e D67

Options :
Pyrite
2085

l.
Chalcopyrite

) 6057 2900
Spalarite
&bugm

3. %
Galena
592

4. %

Question Number : 64 Question Id : 5471145364 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following:

& $08 TP BBDENEN

a — Quartz A — Fertilizer
E“SQ QddaHen

b — Apatite B — Ceramics

e9E385 2)OTT°Ed

¢ — Kaolin C — Insulator
Sa3ndD oS0

d — Mica D — Glass

29238000 e
Options :

a—D, b—A c—-B, d-C

1.«

a—A b=RB c¢—C d=D
2. %

a-B. b-Ac-C d-D
3. %

a~C, b=B, ¢=D, a—A
4. %

Question Number : 65 Question Id : 5471145365 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The high percentage of carbon containing coal variety in India

ePESB L0 Jo é"ﬁg B0E), e B8%0° b SG)P0 &otnoh?

Options :



Lignite

ORYEd

Bituminous coal

e dodH e &%

Cannel coal

RS D &%

3. %

Anthracite
&0(S S

4.

Question Number : 66 Question Id : 5471145366 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Uranmm deposits of Jaduguda are of
2ot afoBRGho JgIFen O eoTE JobKH?
Options :
Magmatic origin
S0P @0TH0
1 %
Sedimentary origin

OSTH ©HoHo

Metamorphic origin

Eoarod8 (508 edonLo



Hydrothermal origin

éag,&g)cﬁa @3)0‘@530

4.9

Question Number : 67 Question Id : 5471145367 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ochre is used m the manufacturing of
£.365 B S5r66° &DBrAE?

Options :
Refractories

f.%z%ﬁa’):vé DTTPED
[

1. %
Paints
BorHe st
2. %
Cements
oS [ gobo
3. %
Glass
e
4. %

Question Number : 68 Question Id : 5471145368 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The main ore mineral in the Mailaram Copper Belt of the Khammam district in

Telangana

SO0 T@D@s 1%?6&_ ana")aéo %qjeﬁsﬁ) shero ooh Fpod 3obdS a’mwé@é

P D

Options :



Chalcopyrite

aﬁé‘sg.fcriég
1.+
Cuprite
éj@@#ﬁ
2. &%
Bormite
&°8¢5
3. %
Chalcocite
aﬁé‘s&‘:@éf
4. %

Question Number : 69 Question Id : 5471145369 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Beryl is commercially known as
B0S @) ey o WH?
Options :
Emerald

SHSoTeeS
[}

1.

Ruby
Good)

Peridot
Folo]ryh]



Moonstone

SmSES

4. #

Question Number : 70 Question Id : 5471145370 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pitchblende is an important ore of

25808 B8 (HHoy rdD?

Options :
Zinc
20§
1. %
Copper
o°h
2. &%
Titanium
SerJcho
3. %
Uranium
s erlovsle)
4. ¢

Question Number : 71 Question Id : 5471145371 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Schistocity is a type of
&1 S0 TES” DT DBS DodIS
Options :
Foliation

DEPS
1.¢



Lineation

3D
2. %
Cleavage
DD
3. %
Sedimentary structure
WHED AYS
4. ®

Question Number : 72 Question Id : 5471145372 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is alkaline rock?

& 808 To0S° 650 F0 DH?

Options :
Granite
G5
1. #
Gabbro
g’
2. %
Phonolite
Toegen
3. %
pegmatite
0980
4. #

Question Number : 73 Question Id : 5471145373 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which rocks - Pillow structures are common

F20R0§B00me 265" D) Aoew &0l Fwew

Options :
Hypabysal rocks
edharord e
1. %
Volcanic rocks
@ﬁ;bd&eﬁ Fee
2.9
Plutonic rocks
oy e
3. %
Metamorphic rocks
Erarodd Feen
4. %

Question Number : 74 Question Id : 5471145374 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cavity filling deposits are formed in

&irdo PraDd DEaren D oo &5° DByc?

Options :
Hydrothermal process

agabom H3aH

——tm

1.v¥

Metamorphic process

ErarodSar) DS



Metasomatic process
SFaDIDBDDD DA
3.8 )
Sedimentary process
95550 DSoD

4. %

Question Number : 75 Question Id : 5471145375 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Minerals - Pyrolusite and psillomalene are ores of which element

DE L0 BOKL DS"DD PIzren D JTreSIN DY), TAD

Options :
Lead
o&
1. %
Zinc
208
2. %
Manganese
S0rDZ0
3. ¢
Iron
QRIS
4. %

Question Number : 76 Question Id : 5471145376 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Tiruchinapalli stage is sub divided mto sub stages
BVATHY B8 Q) 6 B JgBomri.

Options :



l. %

02
2. ¢

05
3. %

04
4. %

Question Number : 77 Question Id : 5471145377 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The rocks syenites are characterized by the predominance of
D pezo, HoHIESS® whBorr ¢od eFeo
Options :

Quartz

=%

1%
Nepheline
IO

2. %

Alakh feldpar
@@é@?péﬂj@ﬂg
3.¢¥
K-Feldspar
K-265°5
4. % &

Question Number : 78 Question Id : 5471145378 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arkose is formed by erosion of

D 3o (B Fobhinw ToBKo Sg @BHE D) Eod

Options :
Gabbro
w&®

1. %

Chlorite Schists

55 55
e

Granite
(o]
3.

Quartzite

=8

Question Number : 79 Question Id : 5471145379 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which state of India. Sandstone mostly found

eSSBS & Uﬁ{é’}o@s 308 Boen JSBTFE0MT SotPoD

Options :
Andhra Pradesh
eS0(SIHBE
1. %
Karnataka
Eoeers
[2=]



Rajasthan

PP
3. ®

Tamilnadu

BT TeH
4. %

Question Number : 80 Question Id : 5471145380 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The word sand gives information about
T8 83 HBSo O DRATY) BeoHHod
Options :

Composition

Svev)
1. %
Size
20&re0
2. ¢
Composition and Size
Bordn) 08w HBrea0
3. %
Origin
Soe0
4. %

Question Number : 81 Question Id : 5471145381 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is mineralogical composition of shale?

25 D pered EOA Gotnod?

Options :



Quartz and clay

o)
L o
Only Quartz
55 S5
2% B
Only clay
B0ePO0 (S
3. %
Kyanite
SairRes
4. %

Question Number : 82 Question Id : 5471145382 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Guano deposits are
rP‘g)SE K}é‘ﬁo a8
Options :
Chemical deposits

Rrcis Jgs0

1. &

Biological deposits

£S5 Sood E'\)ééo
2. ¢

Residual deposits
©HBR VEH0

3. %
Evaporates

a??ou}ajna’) &)é&‘io



Question Number : 83 Question Id : 5471145383 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Placer gold deposits are

'é:rﬁg 20MeSd K)é_@?en

Options :
Aeolian

PO Tedes

1. %
Alluwvial
205098 srdes

2. %

Elluvial
QPN HS

3.+ ~
Colluvial
S erdaHSd

4. %

Question Number : 84 Question Id : 5471145384 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lopolith exhibits shape
SYOE O Bedrard) (H58)08.
Options :

Plano-convex

Davese Broerseho
1. ¢

Plano-concave

Rande Derseso



Concavo-convex

DEFPsRE - Bogrsed

Convex-concave

B0grsed = Jersed

Question Number : 85 Question Id : 5471145385 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kudremukh in Karnataka is famous for
éo;;é:é@’s é:@s’mﬁ 2y ?'Jéfﬁ“a}éa @J?O%
Options :

Copper deposits

oA QZaren
1. %

Hematite deposits

B Agaren
2. %

Magnetite deposits

Ser5yB¢5 Agaren
3. ¢

Ilmenite deposits

SO Agren
4. %

Question Number : 86 Question Id : 5471145386 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India Oldest o1l field
et es S&os* 6@_ DTHN DA étéo

Options :



Ankaleshwar

©wo8B%K5
1%
Digboi
- alatulewy
Ravva
O™
3. %
Bombay High
&°oerPon g
4. %

Question Number : 87 Question Id : 5471145387 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Structure which contains radiating fibers with common centre.

Fa70; SGoS Deces Aren £dAD B D

Options :
Spherulitic structure

- :J;)CSJQQEE bﬂé@

Orbicular structure

ZoSrrTrl) .D&é’@
2. %

Perlitic structure

28OS 2}&&&

3.%

Spheriodal structure

SLaN oS



Question Number : 88 Question Id : 5471145388 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oceanic abyssal sediments consist of

DY) 9TPE:A1S” ot ST aren

Options :
Sands
A0s
1. %
Clays
2208700
2. %
Silts
>
]
3. %
Boulders
B Foen
4. %

Question Number : 89 Question Id : 5471145389 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Write the following rocks with ascending order of metamorphic grades.

& 208 VOV ArICOBEID eSTFEALTT €58 IPEagAeS” Tro3EAL

a. Schist (Sgo) b. Phyllite (>g¢5) c¢. Gneiss (23) d. Slate ()

Options :

d-b-a-c

a-b-c-d

c-d-a-b



d-c-b-a

Question Number : 90 Question Id : 5471145390 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following.

& S$08 T 2D

a. V Shaped valley A. Glaciers
V-e55°6%)) &5°ad SPATrDITen

b. U Shaped valley B. Winds
U-ess5065y) &5 ok e

c. Seifs C. Rivers

2DOSD Hesoen

d. Drumlins D. Fluvioglaciers.

Godd S A0eore
Options :

a—A Bb-B ec—-€d-D

1. %

a—A b—B e¢—D d—-C
2. %

a—C, b-A ¢c-B,d-D
3. ¢

a<B, b—A =D d=C
4. %

Question Number : 91 Question Id : 5471145391 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Marine profile from coast to deep sea
B60 A0d S°BD DAVE0 DL HIANEG TS
Options :
Nearshore — continental shelf — continental Rise — Abyssal zone

29 Hdo- osross 2:1?53- P00 BR- e oociwo

Contiental shelf - Nearshore — continental Rise — Abyssal zone

DOLFOBE Dy~ WaVD B0~ STodDoeES OB - eITE Bookeo

Nearshore — continental Rise — continental shelf — Abyssal zone

D SO0~ S0t BF- 0GToBS D5y BTG Jocwo

Abyssal zone — continental Rise — continental shelf — Nearshore

TG 060" P03V B~ DOLmOBS NSy~ LD Bdo

Question Number : 92 Question Id : 5471145392 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not class of Mullusca.

&: 308 Jo8des’ ;mua% SEEAS BoBSIA
Options :

Articulate

esgs:uéa
1. &

Lamellibranchia

er08erE) os
2. %



Gasteropoda

YT

3. % =
Cephalopoda
DS T

4. %

Question Number : 93 Question Id : 5471145393 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In trilobites the most primitive state of the dorsal suture 1s

BEBES) Do), )P VIoBHD BHD B D6?

Options :
Cephalic
05
1. %
Opisthoparian
2. 2R8Z8008
2. %
Proparian
" 000HS
3.¢¥
Gonatoparian
P 00aHS
4. %

Question Number : 94 Question Id : 5471145394 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gneissic rocks that are metamorphosed sediments are described as

JE Bo, ¥ Erarody (%) wHFl@en 8@ TN D HPFW

Options :



Orthogneisses

63D
QQ—-
1%
Paragneisses
FT° IR0
2.¢
Augen gneisses
SNRE
3. %
Phyllonites
be 365
4. %

Question Number : 95 Question Id : 5471145395 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Brecceia consists of

B8\l & 06 $OA sotnod

Options :
Rounded pebbles
(10 MOS0,
1. %
Angular fragments
Edoth dodsen
2.¢

Sorted sediments

Soeyen WSEren
3. %



Rounded boulders
ogd B¥ Fwen

4. %

Question Number : 96 Question Id : 5471145396 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents solid petroleum
5085 DESPO0 @ BID @otrdH?

Options :
Tar

o)

Asphalt
@E@ﬂg
2.
Wax
D3w

Coke
s*§

Question Number : 97 Question Id : 5471145397 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the Cuddapah basin evidence of volcanic activity in the form of basic lava flows

is obtained from

B 00" o) H5iE VB0 2B §8de erar [HEEo wdarey

QoH&® edrom.

Options :



Cumbum formation

%odfo S)a‘g@oééé o

Tadpatri formation

LI DTgrSEo

Nagari formation

3198 @agﬁiﬁéééo

Vempalli formation

5oé§ S)ag&éééo

4.

Question Number : 98 Question Id : 5471145398 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Greywakes typically exhibits
O35y @ $od8ey 5858)006
Options :
Graded bedding
fﬁéaé LHodBeso
1.¢
Torrential bedding
[B8es SoBea0
2. %
Flaser bedding

DRETR DoJBEI0
3. %



Herringbore cross-bedding

2r80h 5°%6 é‘.‘)ﬁﬁ&g DoJBea0

4. %

Question Number : 99 Question Id : 5471145399 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most common accessory mineral in Eclogites is

DEAESy &° w30 FLT6E 0006 D20 DB?

Options :
Rutile
ErBS
1.+
Bervl
205
2. %
Ilmenite
96R¢E
3. %
Sphene
2%035
4. %

Question Number : 100 Question Id : 5471145400 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

IImenite crystallizes in which crystal system

2SR O HBE FH$HS® KB8BEwmo Tod otwod.

o

Options :
Orthorhombic

@ngoé’]g

1. &



Tetragonal

BEritES
2. %
Monoclinic
FoSEEDE
3. % .
Trigonal
BRS

4.



